
Restar de Ceros (I)Halle cada diferencia.
1000 10000 10000 10000- 274 - 5705 - 9936 - 808
1000 10000 10000 10000- 361 - 4124 - 4752 - 6648
1000 10000 1000 10000- 317 - 6883 - 158 - 2613
1000 10000 1000 1000- 348 - 4391 - 939 - 122
1000 1000 1000 1000- 513 - 775 - 633 - 365
1000 10000 1000 1000- 976 - 1102 - 262 - 118
1000 10000 10000 10000- 888 - 5330 - 9614 - 7915
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Restar de Ceros (I) RespuestasHalle cada diferencia.
1000 10000 10000 10000- 274 - 5705 - 9936 - 808726 4295 64 91921000 10000 10000 10000- 361 - 4124 - 4752 - 6648639 5876 5248 33521000 10000 1000 10000- 317 - 6883 - 158 - 2613683 3117 842 73871000 10000 1000 1000- 348 - 4391 - 939 - 122652 5609 61 8781000 1000 1000 1000- 513 - 775 - 633 - 365487 225 367 6351000 10000 1000 1000- 976 - 1102 - 262 - 11824 8898 738 8821000 10000 10000 10000- 888 - 5330 - 9614 - 7915112 4670 386 2085
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